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I 't mwn (2~ half): obligations of men and women; only nwy nnxn (n" nnxn will be dealt with in next Myw)
a if time-bound, men are obligated, women are exempt
i examples: PYan , X 19V 20 N0
ii  counter-examples: Ynpn ,(7372) NNV ,NXN
1 conclusion: a rule begun with “93” is not exhaustive, even if lists exceptions ("p1n”)
iii  source: Py an (just as it is time-bound and women are exempt)
1 Source for exemption of women from p5’orr. juxtaposition to n"n (vv. 1, 2)
(@) Challenge: why not compare 1290 to niin >obligated?
(b) Answer: pyan is juxtaposed to n"n in both mwa (vv. 1; 2), to nin only in vv. 1
(i) challenge: why not read n”n::ntin (> women be exempt from nnm)
1. rejection: v. 3 — women also need to live long lives (juxtaposed to nnm nxn)
2 challenge: v. 4 explicitly exempts women —>otherwise, they’d be obligated (and n210 is &7 jn1)
(a) answerl (7ax): R"10 that obligation of n21v is like house — with his wife — 5"np
(b) Answer2 (x¥37): R"10 that 7Y nWNN::VY NYNN connects NDY: MO — N¥NI MPN>ND1 MNP — H"Np
3 Challenge: v. 5 exempts women from X1 - otherwise they’d be obligated (and 1>}~ is Xn73 nr1)
(a) Answer: k"0 we should infer mR3 from Ynpn = 9"np
iv  Challenge: why infer all 3thwyn from p5an (= exempt), infer from nnnw (<> obligated)
1 Answerl (»2X): a woman’s fulfillment of nnnw is really her husband’s avn (he elates her)
(a) And:an mnYR is elated by the family that hosts her
v Challenge: infer from 5npn (= obligated)
1 Answer: because n¥n and Ynpn are TNRI D'RAN D’2IN3 W > cannot operate as a model
2 Block: if so, 9an and nR1 are also D103 "W and we have no model for 03 either
(a) Answer: p»on and R are both necessary:
(i) If we only had: p»an, we would apply 1°R72:7PR7 from Ynpn to R > obligated
(i) If we only had: R, we would infer p%an from nnmn (as above) = obligated — 837
(b) Challenge: if so, n¥n and Ynpn could be argued to be both necessary
(i) Rejection: they cannot, if the N1 taught n¥n, we would know that women are obligated in Ynpn
1. argument: 1"p from little children who are obligated to be brought to npn
3 note: this entire argument is only valid if we accept the principle of n>215 2; if not — why not obligated?
(a) Additionally: source for women’s obligation in »"rnYwyn — from XX RN —
(i) Challenge: why not infer from n”n (exempt)?
1. answer: n"n and 749 are 0’2103 NV
a. Note: to 2”2 1w M[v. 6 is a 2N (1"M9) on both] — n”n and 1an j»719 = DN NWY
2. but: to 2”27, 10 and 19 should be 072113 %W = no source for obligation
a.  Answer: justified (11 — no wherewithal; 9”8 more “male” who conquers)
3. however: all of this argumentation is only valid if we accept 0’2113 "1V
4 answer (¥370: v. 7 compares PYan to entire nn = p5an is the model
(a) Character of po2ar. time-bound - non-time-bound are different (women obligated)
(i) To »”r (p2an not time-bound), he accepts na1n3 NV
(if) To: nmm (r»an not time-bound and rejects 21N 71W) YApMm NN ,ANNY are 0’2113 NVHY
b  if not time-bound, both men and women are obligated
i examples: jpn MYV ,NTIR NIVN ,NPYN NN
ii  counter-examples: 1an 1179 ,572M 19 ,n"n (conclusion as above)
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